

$$\begin{aligned} \#1. \text{ The volume of the solid} \\ &= \int_1^{e^2} \pi \left(\frac{1}{\sqrt{x}}\right)^2 dx = \pi \int_1^{e^2} \frac{1}{x} dx \\ &= \pi \ln x \Big|_1^{e^2} = \pi \ln e^2 - \pi \ln 1 = 2\pi \end{aligned}$$

$$\begin{aligned} \#2. \\ (a) \int_0^1 \frac{x}{e^{2x}} dx &= \int_0^1 x e^{-2x} dx \\ &= \int_0^1 -\frac{1}{2} x de^{-2x} \\ &= -\frac{1}{2} x e^{-2x} \Big|_0^1 + \frac{1}{2} \int_0^1 e^{-2x} dx \\ &= -\frac{1}{2} e^{-2} + \left(-\frac{1}{4} e^{-2x}\right) \Big|_0^1 \\ &= -\frac{1}{2} e^{-2} - \frac{1}{4} e^{-2} + \frac{1}{4} = \frac{1}{4} - \frac{3}{4} e^{-2} \end{aligned}$$

$$\begin{aligned} (b) \int_1^{e^2} x \ln^3 x &= \int_1^{e^2} \frac{1}{3} x \ln x dx \\ &= \int_1^{e^2} \frac{1}{6} \ln x dx^2 \\ &= \frac{1}{6} x^2 \ln x \Big|_1^{e^2} - \int_1^{e^2} x^2 \cdot \frac{1}{6} \frac{1}{x} dx \\ &= \frac{1}{3} e^4 - \frac{1}{6} \int_1^{e^2} x dx \\ &= \frac{1}{3} e^4 - \left(\frac{1}{12} x^2 \Big|_1^{e^2}\right) \\ &= \frac{1}{3} e^4 - \frac{1}{12} e^4 + \frac{1}{12} = \frac{1}{4} e^4 + \frac{1}{12} \end{aligned}$$

$$\begin{aligned} (c) \int \frac{\ln x}{x^2} dx &= \int \ln x \cdot x^{-2} dx \\ &= \int -\ln x dx^{-1} \\ &= -\frac{1}{x} \ln x + \int x^{-1} \frac{1}{x} dx \\ &= -\frac{\ln x}{x} + \int x^{-2} dx \\ &= -\frac{\ln x}{x} - \frac{1}{x} + C \end{aligned}$$

$$\begin{aligned} (d) \int x^3 e^{x^2} dx &= \int \frac{1}{2} x^2 de^{x^2} \\ &= \frac{1}{2} x^2 e^{x^2} - \int e^{x^2} x dx \\ &= \frac{1}{2} x^2 e^{x^2} - \left[\int \frac{1}{2} de^{x^2} \right] \\ &= \frac{1}{2} x^2 e^{x^2} - \frac{1}{2} e^{x^2} + C \end{aligned}$$

$$\begin{aligned} (e) \int \frac{1}{16-3u^2} du \\ &= \int \frac{1}{(4-\sqrt{3}u)(4+\sqrt{3}u)} du \\ &= \int \frac{1}{8} \left(\frac{1}{4-\sqrt{3}u} + \frac{1}{4+\sqrt{3}u} \right) du \\ &= \frac{1}{8} \int \frac{1}{4-\sqrt{3}u} du + \frac{1}{8} \int \frac{1}{4+\sqrt{3}u} du \\ &= \frac{-1}{8\sqrt{3}} \int \frac{1}{4-\sqrt{3}u} d(4-\sqrt{3}u) \\ &\quad + \frac{1}{8\sqrt{3}} \int \frac{1}{4+\sqrt{3}u} d(4+\sqrt{3}u) \\ &= \frac{1}{8\sqrt{3}} \ln|4+\sqrt{3}u| - \frac{1}{8\sqrt{3}} \ln|4-\sqrt{3}u| + C \\ &= \frac{1}{8\sqrt{3}} \ln \left| \frac{4+\sqrt{3}u}{4-\sqrt{3}u} \right| + C \end{aligned}$$

$$\begin{aligned} (f) \int (\ln x)^3 dx \\ &= x (\ln x)^3 - \int x \cdot 3 (\ln x)^2 \cdot \frac{1}{x} dx \\ &= x (\ln x)^3 - \int 3 (\ln x)^2 dx \\ &= x (\ln x)^3 - \left[3x (\ln x)^2 - \int x \cdot 6 (\ln x) \frac{1}{x} dx \right] \\ &= x (\ln x)^3 - 3x (\ln x)^2 + \int 6 \ln x dx \\ &= x (\ln x)^3 - 3x (\ln x)^2 + 6x \ln x \\ &\quad - \int x \cdot 6 \cdot \frac{1}{x} dx \\ &= x (\ln x)^3 - 3x (\ln x)^2 + 6x \ln x \\ &\quad - 6x + C \end{aligned}$$

$$\begin{aligned} (g) \int x \cos(2x) dx \\ &= \int \frac{1}{2} x d\sin(2x) \\ &= \frac{1}{2} x \sin(2x) - \int \sin(2x) \frac{1}{2} dx \\ &= \frac{1}{2} x \sin(2x) + \int \frac{1}{4} d\cos(2x) \\ &= \frac{1}{2} x \sin(2x) + \frac{1}{4} \cos(2x) + C \end{aligned}$$

#3.

$$f(x) = \int (x+1)e^{-x} dx$$

$$= \int -(x+1) d e^{-x}$$

$$= -(x+1)e^{-x} + \int e^{-x} dx$$

$$= -(x+1)e^{-x} - e^{-x} + c.$$

$$f(1) = -2e^{-1} - e^{-1} + c = 5$$

$$\Rightarrow c = 5 + 3e^{-1}$$

$$\therefore f(x) = -(x+1)e^{-x} - e^{-x} + 5 + 3e^{-1}$$

#4. $\frac{dx}{dt} = x^2 \cos t.$

$$\Leftrightarrow \int \frac{1}{x^2} dx = \int \cos t dt.$$

$$\text{i.e. } -\frac{1}{x} = \sin t + C.$$

$$\Rightarrow x(t) = \frac{-1}{\sin t + C}$$

$$x(\pi) = 1 \Rightarrow -1 = \sin(\pi) + C.$$

$$\Rightarrow C = -1$$

$$\Rightarrow x(t) = \frac{-1}{\sin(t) - 1}$$